SAN SIMEON

DRESSER & ROUND MIRROR

6810 RECLAIMED WHITE

6820 RECLAIMED BLUE

RTGSKU| STYLE# ITEM DESCRIPTION

RTGSKU | STYLE# ITEM DESCRIPTION

34468101| 6810 - 041 Round Mirror

34468202| 6820 - 041 |  Round Mirror

34168105 6810 - 260 Dresser

34168206| 6820 - 260 Dresser

ROUND MIRROR PART LIST QTY | | CODE HARDWARE LIST QTY
1 | BoltM6x 1x 50 mm @ | 8 Pcs

A Round Mirror 1 Pc
2 | Lock Washer M6 x 11 x 2 mm @ 8 Pcs
3 | Flat Washer M6 x 16 x 1 mm 8 Pcs

B Mirror Bracket 2 Pcs
4 | Allen Key 4 x 60 mm | — 1 Pc

DRESSER PART LIST QTY

Dresser
C (sold separately) IPe

This product is manufactured by RCKF forR O O MS TO G@ ‘ Kl DS

DO NOT USE SUBTITUTE PARTS. PLEASE CONTACT YOUR RETAIL STORE OR WWW.ROOMSTOGO.COM
WITH SERVICE OR PARTS REPLACEMENT REQUEST

Page 1 of 3




Thank you for purchasing this quality product. Be sure to check all packing material carefully for small parts which may
have come loose inside the carton during shipment. Identify and count all parts and compare with the parts list below.
Read all instructions before assembling and keep these instructions for future reference.

HARDWARE PACK LOCATION

RTG SKU | STYLE# ITEM DESCRIPTION

34468101 6810 - 041 | Round Mirror

34468202| 6820 - 041 | Round Mirror

>
%
%,

0,
Hardware Pack——— d%

Location

This product is manufactured by RCKF for|[< O O MS TO G@ ‘ Kl DS

DO NOT USE SUBTITUTE PARTS. PLEASE CONTACT YOUR RETAIL STORE OR WWW.ROOMSTOGO.COM
WITH SERVICE OR PARTS REPLACEMENT REQUEST

Page 2 of 3




Thank you for purchasing this quality product. Be sure to check all packing material carefully for small parts which may
have come loose inside the carton during shipment. Identify and count all parts and compare with the parts list below.
Read all instructions before assembling and keep these instructions for future reference.

ASSEMBLY INSTRUCTIONS

STEP 1

SOLD SEPARATELY

Attach Mirror Bracket ( B ) to Dresser ( C ) and Round Mirror ( A ) using Allen Key 4 x 60 mm (4 ), Lock Washer M6 x 11 x 2 mm ( 2),
Flat Washer M6 x 16 x 1 mm (3 ), and Bolt M6 x 1 x S0 mm ( 1).

ASSEMBLY COMPLETE

This product is manufactured by RCKF forR O O MS TO G@ ‘ Kl DS

DO NOT USE SUBTITUTE PARTS. PLEASE CONTACT YOUR RETAIL STORE OR WWW.ROOMSTOGO.COM
WITH SERVICE OR PARTS REPLACEMENT REQUEST

Page 3 of 3




	Page 1
	Page 2
	Page 3

